BK Albrekts

Kvéallstegen omg 17 2019-05-23

IMP over faltet, 18 bord, 36 par. Antal brickor: 12.

Plac Par Poéng Namn MID
1 302 3.12 Gunvor Bengtsson - Andrea Nilsson 19715 58762
2 103 3.02 Rebecca Nelje - Jan Holmstrom 42427 42433
3 6 2.89 Erling Ohlsson - Kenneth Svensson 87034 14859
4 3 2.63 Nils Svensson - Carl-Olof Jagebro 26780 26790
5 208 2.32 Pia Larsson - Birgitta Lindberg 50588 34160
6 105 2.24 Per Sintorn - Bobbo Jovic 36301 48267
7 205 2.18 Tove Roulund - Arnold Andersson 58234 13331
8 2 1.07 Markus Bengtsson - Lars-Anders Callenberg 89654 1601
9 307 1.02 Hans Fritzén - Gunilla Fritzén 42726 42727
10 306 0.92 Siw Svensson - Kerstin Kagstrom 56262 45861
11 204 0.91 Annika Levin - Inga-Britt Andréasson 79423 14841
12 304 0.66 Bo Johansson - Anita Riccius 7290 18080
13 101 0.44 Annica Carlsson - Christina Ederberg 56440 56439
14 209 0.39 Jan Olsson - Birgitta | Olsson 56443 56442
15 308 0.36 Berit BoOs - Kia Leckne 50596 86679
16 201 0.34 Ingegerd Peterson - Kjell Oberg 14153 15657
17 309 0.09 Ulla Johansson - Lennart Johansson 43750 43749
18 7 0.03 Margaretha Sintorn - Licelott Hallman 19348 78606
19 207 -0.03 Lars-Goran Larsson - Jan Bjérkman 2743 62990
20 109 -0.09 Birgit Ekman - Marianne Nilsson 42256 17483
21 1 -0.34 Britt-Marie Warborn - Per Fahraeus 2783 3010
22 108 -0.36 Birgitta Bengtsson - Maj-Britt Forsaeus 20028 45807
23 9 -0.39 Arne Helmersson - Ann-Sofi Helmersson 7286 60740
24 301 -0.44 Margaretha Fahraeus - Hans Andréasson 53992 8215
25 104 -0.66 Margareta Svensson - Inger Hedstrom 86685 84020
26 4 -0.91 Gert Andersson - Gunilla Jern 88600 45624
27 106 -0.92 Manfred Bachmann - Stig-Olof Hermansson 26708 26783
28 107 -1.02 Ludvig Strannabjer Melin - Melvin Linderoth 64837 67384
29 202 -1.07 Claes Borjesson - Bo Hellstrém 92022 53201
30 5 -2.18 Kjell Olsson - Ingrid Dahlin 45456 45452
31 305 -2.24 Hakan Bjorklund - Elsbeth Lundgren 38101 53948
32 8 -2.32 Lena Martensson - Sonia Banghall 84025 42729
33 203 -2.63 Roger Hedskdld - Bodil Gustafsson 92027 22165
34 206 -2.89 Stig Emblad - Gunnar Nilsson 50601 50600
35 303 -3.02 Nicklas Barman - Jan Gustavsson 60737 60706
36 102 -3.12 Curt Andersson - Anders Bodén 43281 41046
1 484 Basta kontrakt 2 & EKKn7 Basta kontrakt 3 D5 Basta kontrakt
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105 305 2NO= 2 -120 101.0 -101.0| 9 209 6NN= &T 1440 220.0 -220.0 {109 309 44 V-3 +T 300 105.0 -105.0
6 206 24 V+1 &J -140 87.0 -87.0(103 303 6NS= ¢4 1440 220.0 -220.0| 1 201 44 V-2 +3 200 64.0 -64.0
108 308 24 V+1 ¢5  -140 87.0 -87.0(105 305 6NS= 48 1440 220.0 -220.0 {102 302 34 V-2 43 200 64.0 -64.0
109 309 24 V+2 45 -170 79.0 -79.0( 4 204 3NS+4 45 720 66.0 -66.0 (105 305 24 O-2 ¥3 200 64.0 -64.0
3203 24 V+3 & -200 64.0 -64.0| 3203 3NS+3 45 690 52.0 -52.0| 7 207 INS+1 42 120 36.0 -36.0
106 306 24 V+3 ¢5  -200 640 -640| 6 206 3NS+3 ¢4 690 52.0 -52.0( 2202 34 V-1 43 100 19.0 -19.0
107 307 3SNO= &2 -400 -15.0 15.0|107 307 3NS+3 45 690 52.0 -52.0| 5205 34 V-1 ¢K 100 19.0 -19.0
8 208 44 V= ¢5 420 -31.0 31.0| 7 207 4vy N+2 46 680 52.0 -52.0| 3203 2¢ S= &T 90 19.0 -19.0
103 303 44 V= ¢5 -420 -31.0 31.0|101 301 3NS+2 48 660 430 -430| 6206 2¢ S= T 90 19.0 -19.0
1201 46 V+1 &J -450 -45.0 45.0(104 304 4v N+1 46 650 43.0 -43.0(103 303 2¢ S= &T 90 19.0 -19.0
2 202 44 V+1 & -450 -45.0 45.0(106 306 4v N+1 &5 650 43.0 -43.0| 4 204 2¢ S-1 &T -50 -47.0 47.0
4 204 44 V+1 &4  -450 -450 45.0|108 308 1lv N+3 +6 170 -82.0 82.0| 9209 2v N-1 a7 -50 -47.0 47.0
5205 44 V+1 #J -450 -45.0 45.0| 2202 6NS-1 48 -100 -153.0 153.0 {101 301 INS-1 &2 -50 -47.0 47.0
7 207 44 O+1 &A 450 -450 45.0| 5205 6NN-1 #9 -100 -153.0 153.0 (104 304 2¢ S-1 &T -50 -47.0 47.0
9 209 44 V+1 & -450 -45.0 45.0| 8 208 6NS-1 ¢4 -100 -153.0 153.0 (106 306 3¢ N-1 #A -50 -47.0 47.0
101 301 44 V+1 &7 -450 -450 450| 1201 6NS-2 48 -200 -174.0 174.0|107 307 INN-1 &7 -50 -47.0 47.0
102 302 44 V+1 vA -450 -45.0 45.0|102 302 6NS-2 48 -200 -174.0 1740| 8 208 2y N-2 ¢4 -100 -73.0 73.0
104 304 44 V+1 & -450 -45.0 45.0(109 309 6NN-2 #T -200 -174.0 174.0(108 308 3¢ S-2 T -100 -73.0 73.0
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103 303 54 O-1 &7 100 201.0 -201.0 ({104 304 44 S= +K 620 197.0 -197.0| 6 206 54D O-5 ¢7 1400 261.0 -261.0
109 309 3# O+1 vK -130 150.0 -150.0| 2 202 34 S+1 ¢7 170 68.0 -68.0| 2 202 34DO-2+¢7 500 113.0 -113.0
8 208 34 O+1 vK -170 139.0 -139.0( 4 204 34 S= v7 140 55.0 -55.0( 1201 5#S= &A 400 79.0 -79.0
6 206 24 O+4 vK -230 1180 -1180| 5 205 34 S= ¢7 140 55.0 -55.0| 3 203 54 N= vK 400 79.0 -79.0
5205 44 O= &7 -620 -24.0 24.0|101 301 34 S= v7 140 55.0 -55.0(103 303 5# N= 4K 400 79.0 -79.0
107 307 44 O= &9 -620 -24.0 24.0(105 305 34 S= v7 140 55.0 -55.0|107 307 5# O-3 45 300 41.0 -41.0
1201 44 O+1 ¢J -650 -40.0 40.0|108 308 34 S= v2 140 55.0 -55.0| 7 207 44 O-2 &7 200 1.0 -1.0
4 204 44 O+1 vK -650 -40.0 40.0| 1201 5vDO-142 100 43.0 -43.0| 8 208 44 O-2 T 200 1.0 -1.0
9209 44 O+1 3 -650 -40.0 40.0| 3 203 4vDO-142 100 43.0 -43.0(101 301 34 O-2 &6 200 1.0 -1.0
101 301 44 O+1 ¥3 -650 -40.0 40.0|102 302 5¢vDO-142 100 43.0 -43.0|105 305 4 N= #4A 130 -29.0 29.0
102 302 54 O= &7 -650 -40.0 40.0| 7 207 5v O-1 42 50 17.0 -17.0 (106 306 4# N= 4K 130 -29.0 29.0
104 304 44 O+1 ¢J -650 -40.0 40.0| 8 208 44 S-1 v7 -100 -38.0 38.0| 9209 34 O-1 ¢5 100 -42.0 42.0
105 305 44 O+1 &7 -650 -40.0 40.0| 9 209 3vy O+1 42 -170  -67.0 67.0|104 304 34 O-1 &T 100 -42.0 42.0
2 202 44 O+2 vK -680 -56.0 56.0(107 307 3v O+1 &2 -170  -67.0 67.0|109 309 34 O-1 &6 100 -42.0 42.0
3 203 44 O+2 vK -680 -56.0 56.0(109 309 2v O+2 42 -170 -67.0 67.0| 5 205 5 N-1 &K -50 -98.0 98.0
7 207 44 O +2 &7 -680 -56.0 56.0| 6 206 4y O= 42 -420 -149.0 149.0|102 302 5#DN-1 4K  -100 -119.0 119.0
106 306 44 O+2 v2 -680 -56.0 56.0(103 303 4y O= &2 -420 -149.0 149.0|108 308 4& N-2 4K -100 -119.0 119.0
108 308 44 O+2 3 -680 -56.0 56.0(106 306 4y O= 42 -420 -149.0 149.0( 4 204 54 N-3 &K -150 -135.0 135.0
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2 202 1v V+3 48 -170  131.0 -131.0| 3 203 24DS+1vA 570 179.0 -179.0 |107 307 3NDV -2 ¢4 500 182.0 -182.0
103 303 2v V+2 ¢7 -170  131.0 -131.0| 1 201 24 N+1 ¢A 140 21.0 -21.0(105 305 INV-3 2 300 132.0 -132.0
3203 3v V+2 46 -200  119.0 -119.0| 2 202 24 N+1 ¢A 140 210 -21.0| 2202 3#V-1 &6 100 60.0 -60.0
6 206 2v V+3 & -200  119.0 -119.0| 5 205 14 S+2 ¢7 140 21.0 -21.0|106 306 INO-1 ¢4 100 60.0 -60.0
108 308 2v V+3 ¢2 -200  119.0 -119.0 |101 301 24 S+1 %4 140 21.0 -21.0| 3203 INV= ¢4 90 -24.0 240
7 207 2v V+4 &8 -230 107.0 -107.0|109 309 24 S+1 ¢3 140 21.0 -21.0| 4204 INV= ¢4 90 -24.0 240
1201 49y V+1 &) -650 -53.0 53.0| 4204 24 S= ¢9 110 50 50| 5205 INV= 2 90 -24.0 240
5205 4v V+1 #8 -650 -53.0 53.0( 8 208 24 S= ¢9 110 50 -5.0| 8208 INV= ¢4 90 -24.0 240
8 208 4v V+1 &7 -650 -53.0 53.0| 9209 24 S= +¢9 110 50 -5.0(101 301 INV= ¢4 90 -24.0 240
9 209 4v V+1 &) -650 -53.0 53.0|103 303 24 S= &4 110 50 -5.0(102 302 INV= 2 90 -24.0 240
106 306 5v O= ¢7 -650 -53.0 53.0|106 306 24 S= ¢9 110 50 -5.0(103 303 INV= +¢9 90 -24.0 240
109 309 4y V+1 7 -650 -53.0 53.0|102 302 5¢ O-2 #A 100 40 -40(104 304 INV= ¢2 90 -24.0 240
4 204 5v V+1 & -680 -68.0 68.0| 6206 3¢ O-1 4K 50 -28.0 28.0(108 308 INV= ¢4 -90 -24.0 240
101 301 4v V+2 46 -680 -68.0 68.0|105 305 INO-1 A 50 -28.0 28.0|109 309 2v V= ¢4 -110 -39.0 39.0
102 302 5v V+1 8 -680 -68.0 68.0|108 308 4¢ O-1 #A 50 -28.0 280| 1201 INV+1l A -120 -41.0 410
104 304 4y V+2 &8 -680 -68.0 68.0| 7 207 34 S-1 YA -50 -68.0 68.0| 6 206 INV+1l v2 -120  -41.0 41.0
105 305 4v V+2 #8 -680 -68.0 68.0(107 307 44 S-1 vA -50 -68.0 68.0| 7 207 INV+1l vJ -120  -41.0 41.0
107 307 4v V+2 48 -680 -68.0 68.0|104 304 34 0= &A -110 -93.0 93.0( 9 209 INO+2 &J -150 -56.0 56.0
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1201 4v S+2 #9 680 80.0 -80.0|101 301 3NS+1 &6 430 73.0 -73.0|105 305 4v S= &T 620 189.0 -189.0
2 202 4v S+1 v4 650 65.0 -65.0 (106 306 4y N= &A 420 730 -730| 7 207 2v S+2 &T 170 56.0 -56.0
3203 4v S+1 v4 650 65.0 -65.0| 1201 3NS= &6 400 61.0 -61.0(101 301 2v S+2 &7 170 56.0 -56.0
5205 4v S+1 &7 650 65.0 -65.0| 2202 3NS= ¢9 400 61.0 -61.0(109 309 2v S+2 &T 170 56.0 -56.0
9209 4v S+1 #9 650 65.0 -65.0( 3 203 3NS= &A 400 61.0 -61.0| 6206 3vS= &J 140 39.0 -39.0
101 301 4v S+1 47 650 65.0 -65.0| 4 204 3NN= &A 400 61.0 -61.0(103 303 2v S+1 &T 140 39.0 -39.0
103 303 4v S+1 47 650 65.0 -65.0| 6206 3NS= ¢9 400 61.0 -61.0(104 304 3v S= &7 140 39.0 -39.0
104 304 4v S+1 #9 650 65.0 -65.0( 7 207 3NS= 44 400 61.0 -61.0(107 307 2v S+1 &9 140 39.0 -39.0
109 309 4v S+1 #3 650 65.0 -65.0|103 303 3NS= 47 400 61.0 -61.0|106 306 INN+1 ¢Q 120 29.0 -29.0
4 204 4v S= &9 620 51.0 -51.0|105 305 3NS= ¢9 400 61.0 -61.0| 9209 2vS= &T 110 23.0 -23.0
6 206 4v S= ¢7 620 51.0 -51.0(108 308 3NS= &6 400 61.0 -61.0| 1201 4vS-1 +3 -100 -65.0 65.0
108 308 4v S= ¢7 620 510 -51.0| 8208 2NS+2 49 180 -340 340( 3203 44 N-1 #Q -100 -650 65.0
102 302 3v S+3 47 230 -92.0 920 9209 3v N= &#A 140 -43.0 43.0| 4 204 34 N-1 #Q -100 -650 65.0
8 208 3v S+2 #9 200 -105.0 105.0 {102 302 4v N-1 &A -50 -119.0 119.0| 5 205 4v S-1 +8 -100 -65.0 65.0
7 207 2v S+2 ¢7 170 -114.0 114.0|104 304 3NN-1 &A -50 -119.0 119.0 (108 308 3v S-1 43 -100 -65.0 65.0
107 307 2v S+2 ¢7 170 -114.0 114.0 |107 307 4v N-1 &A -50 -119.0 119.0( 2 202 3¢ O= vA -110 -66.0 66.0
106 306 INN+2 8 150 -127.0 127.0 (109 309 3N S-1 %4 -50 -119.0 119.0 ({102 302 3¢ O= #8 -110 -66.0 66.0
105 305 6v S-2 ¢7 -200 -201.0 201.0| 5205 3NS-2 +¢7 -100 -142.0 142.0| 8 208 4v S-2 +¢3 -200 -108.0 108.0
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